Graph the following quadratics:

1) y=x*+6x+8 2)  f(x)=x*+3
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TEST #3 REVIEW

6raph the following quadratics:

NAME :

X Seo Poge I

1) y=x*+6x+8 2)  f(x)=x"+3
vertex( , ) vertex( , )
maximum or minimum maximum or minimum
roots: x= . X = rootfs: x= =
3)  y=(x-2)F 4) f(x)=2x*-6x+4
vertex( , ) vertex( , )
maximum or minimum maximum or minimum
roots: x= . DG roofs: x= , X =
Solve by FACTORING.
5) 5x2-20x=0 X=© ¥X=4 6) 4x*-25=0 w= Z x="3
2 = = = W e 2 = = = == 2
7) c“-4c-12=0 ¥ ¥ 2 8) 4x“+4x-3=0 __.ii X =3

Find the value of the discriminant and describe the nature of the roots of each
quadratic equation. SOLVE!

D=2-3 7 conjugule imaginony wois = | douwble voot
9)x3+7x+1320 yxa -18iV3 10)9x°+42x+49=0 y 2 ~7/3
a
11) 2x? - 5x = 3 Dz uq 2 vexs, vohowed 12) 18x% = 9x + 45 D= D32 2 ,\_m_nlsiwq_-\{om.o
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5 3 x="h
simplify. X = e Ks LB ES, t'qm
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18) (3i -9
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21) (5+6i)-(2+7)) DL

23) (3 - 10i) - (-6 +12i) A ~AAL
25)3(8 - 4i)) A4 ~\al

27) (2 + 4i)2-4i) QO

52 -5 -Q

29)

22)(7 +12i) + (4+9i) 1 ¥+ Rl
24)(2 - 15} s (9-T) ~1 =RARL

26)(5+1iY2=i) =1 F¥le

$1) . ol

3=2
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33) y=-3x-3+3

Solve by looking at the graph. -
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28) (3 - 5i)’ ~lle = 30¢
30) 2+9 Qv =9
51 -5
32) 3—2% Y-2D
6+71 65

34)  f(x) =-;-(—x F2R2 -2
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